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1. One of these multiples of 10 is spelt wrong - which one?

10 20 30 40 50 60 70 80 90
ten | twenty thirty fourty fifty sixty seventy eighty ninety
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2. Complete this table

two three five eight

2x10=20 | 3x10=30 | 4x10=40 | 5x10=50 | 6x10=60 | 7x10=70 | 8x10 =80 | 9x10 =90

forty sixty seventy ninety

DIORIE) placeOvalue99 (4) SRS Learning Limited



teach-learn placeOvalue99 (4) timelypractice.com

3. Complete the missing numbers: 20, 40 and 80 in words.

Zero ten h thirty ‘ fifty sixty seventy ninety hundred
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10 20 30 40 20 60 70 80 90 100
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4. Some of these multiples of 10 are spelt wrong - which ones?

10 20 30 40 50 60 70 80 90
ten twoty threety forty fivety sixty seventy eightty ninety
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Answers

1. forty not fourty

two three four five six seven eight nine
2. 2x10=20 | 3x10=30 | 4x10=40 | 5x10=50 | 6x10=60 | 7x10=70 | 8x10=80 | 9x 10=90
twenty thirty forty fifty sixty seventy eighty ninety

3. twenty, forty, eighty

4. twenty, thirty, fifty, eighty

GlOES(O)

placeOvalue99 (4)

SRS Learning Limited




